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2-1
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[1]
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(EPSP:Excitatory Post-Synaptic Potential)
EPSP

(MIT)
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t+

DWi-liz0=N=1
DWi-li<®@=N=0

2-1 t

Dli(t)-Wi >0 = N(t+At) =1
Dli(t) Wi <®@= N(t+At)=0

2-3
iljoc{lj—f(Zli-V\ﬁ)}
ot

DW= fOli-wi)=1
DIli-Wi<o= fO 1i-Wi)=0

( )]
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( 2-6D)

(

2-6B
2-6C

(
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2-6
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)Inverter [4]

A B
B=A
A B
cH—— P
1 0
Inverter
JNAND [4]
NAND Ax B
C=AxB 2
3
A B AxB C A
0 0 0 1
0 1 0 1
1 0 0 1 B —
1 1 1 0
3 NAND
JNOR [4]
NOR A,B A+ B
A,B C
C=A+B 3
4




A+ B

4 NOR

[4]

)EXOR

AB

AxB+ AxB
A®B

C=

EXOR

(3]

AB
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AB

(3-5)

AB

S=A®B

C

(A-B)

=A-B

NAND

C

EXOR

S

(5]
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AB

c C

A®B®C'
C=(A®B)C'+AB

S=

(A® B)C'AB

.
|

2-1

AG) i

(3-7,8)

2-1

Ai) = 1()-W(i)
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Y Ai)z20=>N=1
Y Ali)<®=N=0

3-7,8
Synaps
Neuron
3-7
Al =1 -W(i)
= (1 -W(i))
NAND Inverter
W(i) SRAM
( 3-13 ) W(i) SRAM W(i)
3-10
A =1+W
3-10 Inverter NOR
3-10 3-11
A-B=A+B
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3- I Wi (i=1~4) Ai(i=1~4)

!
= I
|
: | wm[) oo
— A g
—1 S TN w ) o=
W 4 4 x Wz
! L wm) e
42w~ - w3
A4
| =
3-
ai,bi(i=1~4)
si(i=1~4) C
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| 2a |-+
a+4 . O
> Ais|;§: 3A _—I‘z
eza—{ 3 [
b%/ " b3— i
C
In— 3 [
S>0
(3-12) e}

S+0+1>0+0 +1

S+0
S+O
o)
o)
S+ 6 +1=1100+0001+0001=1110
s o

C)

S+ 0 +1=1100+ 0101+ 0001 = 10010
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S+0
S+6+1:ZN:A(i)+@+1
3-16 (3-17)

S+@+1:(6+1)+ZN:A(i):(6+1)+A(1)+A(2)+ A(N)
(3-17)
©+1)+ AQ) -0 gA(l):@sZN:A(i)
©+1)+AQ)+ A2 :>@+1SA(1)+A(2):>®£ZN:A(i)
O+ +AD)+AQR+ A(N) = O+1<AQ)+AQQ+ A(N):@SZN:A(i)

i=1
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(3-18)

C=C+C(2+

(3-18)

A@i)(1=1~N)

b@©)+1=0 +1

3-17

(i)

S+O
C(i)(i=1~N)
e)
N
N A
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NOR

Inverter

3-10



WO

Al

+t

AQ2)

b
=

A

b6 MTTTTTN
A1) B M
N

AN)
— AN
3-10
N 1

ex N(i)(i=1~N)

N(i) WGj) j

ex ew(i)(i:i ) O i i

N 3-11 b( )
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b(©)+1

ex(i),N(i) W(L,j),ew(i),O (i)
2-2 3-19

ex(l) N(D)
ex=| M |[N=| M
ex(N) N(N)
w(ll) K w(@LN) ew(l) o)
w=| M O M |lew=| M |[@=| M

WwND) A w(N,N) ew(N) O(N)

Y =ex.xew+w* N(t)
Y(i)>0(>@)= N@(i)(t+D)=1
Y(i)<O@)= N@)(t+1) =0

ex(D) * ew(d)
ex.* ew = { M }

eX(N) *ew(N)

3-11 3-12

ex{N] = ex, W[N,N] = w O+1
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ex(1)

b(® (L))+1

b(w(L.1) /@

b(w(LN))

b(ew1)

b(w2N)
ex(2) @ bO (N)+1 H
bew2) ¥
b(w(N,1)
b(w(N.N))
ex(3)
\ ) |
N(N) NG2) 1)

[1oHE

3-11
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WIS

N\

exN] = | N.Net —> N[N

U
ew[N]wlN,N], O[N]
O RTLEW
3-12
SRAM
[5] 3-13
N ex(i)(i=1~N) N(i)(i=1~N)
ss(i)(i=1~N) w ew

]
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\1\
Fa—ES /‘ SRAM
%j _ @/ W \‘Wﬂ] VS
\
0001 _ | o
~ o ]
A0 {% N
\
mEs= SM_ NZS
ss(i) —
o Il

3-13
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4 MOSFET

MOSFET [[41.161]
(S) (D) (G) ()
NMOS PMOS NMOS
p n (Si0,)
(Metal)
(Oxide) (Semiconductor) MOS ( 4 )

G
A

P

4 1 MOSFET

NMOS n

NMOS
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s

@ , nFwRJIb

i

. (==
/

pZ¥s o>

=

PMOS NMOS

NMOS PMOS 4-3a,b,c,d
(d) (s) 9) (s)

NMOS PMOS 4-4a,b
Vbg

Vds
Ids

Vgs

4-4a

9.E-04

8.E-04

7.E-04

6.E-04

ds(a) SE%

— — Vgs=0V

4E-04

Vgs=1V

3E-04

Vgs=2V

2E-04 7

Vgs=3V

1E-04 [

0E+00 ==

Vds(V)

4-3a NMOS Vgs
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Ids
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1E-04 0 k
1E-06 /
Vds=1V
lds(A) ) — -Vds=2V
1E-08 // Vds=3V
1.E-10 7/
1E-12
Vgs(V)
4-3b NMOS Vds Ids
6.E-04
5.E-04 /’
4E—04 / VgS:3V
. = =\gs=2V
Ids(A) 3.E-04 /// Vgs=1V
2E-04 Vgs=0V
1.E-04
0.E+00
0 1 2
Vds(V)
4-3c  PMOS Vgs Ids




1.E-03 | | ‘
0 1 23
1.E-04 -
Y —— Vds=3V
lds(A) 1.E-05 f/ — — Vds=2V
Vds=1V
1.E-06
v
1E-07
Vgs(V)
4-3d PMOS Vds Ids
D
| G (=)
| [—= | [—
PMOS = NMOS S
4-4a 4 MOS
D

[@mQS [ﬂ[ﬂTﬂ@S s

4-4b 3 MOS
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3- MOSFET
GND
(H(high),L(low))
[5]
Inverter PMOS,NMOS 4-5a
A B
B 4-5b
vd
Vdd :
A = A B
GND
GND
4 a Inverter
3 x
2
B(V) \
1 \
0 ‘
0 1 2 3
AV)
4-5b Inverter A B
Inverter A 0V 3V  PMOS
0V  NMOS
B 3V A NMOS
NMOS PMOS
B 0V
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NAND  [5]

A,B C NAND
4-6a A 0V3V
C 4-6b
| Vdd
|
“ s
|
1 B
B | i
! i
|
GND i —|
i
! GND
4-6a NAND
3 -.‘\
2 \
\ A(OV)
o\
V) \ — — A@3V)
1 \
0 1 ‘\___
0 1 2 3
B(V)
4-6b  NAND A,B C
NAND NMOS NMOS
oV A,B 3V c oV
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NOR  [5]

AB NOR
4-7a A 0V_3V
4-7b
| vdd
|
. A
! @
| = )
Vc.rd | (=]
< |
[~ | I
i ! |
!
!
[
4-7a NOR
3 —-.\
i \
e i
L \
\\_____
0
0 1 2
B(V)
4-7b NOR C
NAND NMOS NOR PMOS
A,B oV 3V
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EXOR

A,B c 1 EXOR
4-8 [5]
Vdd
A
Vdd :l;‘
A
c B * c
i
B ——
GND
GND
4-8 EXOR
EXOR NMOS PMOS ( ) (A 0V)
B C (A 3V) B
C
4-8 EXOR
EXOR Vdd,GND A,B
4-
9a NAND Inverter EXOR
4-9b Inverter
EXOR A,B Vvdd,GND
MOS ( 4-9a 16
4-9b 10 ) ( 4-9b) EXOR 4-9b
A 0V,3V B C 4-9¢
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GU

O

O

4-9a NAND,Inverter EXOR
Vdd
A
Vdd
. %F
c B *
2
B —
GND
H o -
4-9b Inverter EXOR
3 -
/
2 | — — AQV)
C(v) \
] AQ3Y)
1 1 \
0 "J .
0 1 2 3
B(V)
4-9c EXOR ( 4-9b) AB C
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ov

NOR

3-10 NOR 4-10 Ai(i=1~N)
C Ai ov PMOS
3V
( Vdd—_l_
Al Q 3\
; ]
A2 Q_"
N - >u|
: |
AN
\ Q_"
Nk { : n|
: ] IJ c/
1
- L W
' N\ J
' Y
NE
4-10 NOR
3-11 N(i) (t=0)
F 4-11 SS f |
cn F cn ss,f
| cn 3V SS cn
4-9 Inverter
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N
Vdd
§§ f
Ve piin Ves
cn N
Vdd
§§ I
f
aND f Tt L
1t
T o
L
GND
4-11
NOR 3-11 4-12
ex(i)(i=1~N) N(i)(i=1~N)
Vdd,GND,ss,v_v 0+1 cn
ov 3V 0
0
=xC1D
32>
(3D

NOND NC2) NCD)

cn

= >

4-12 NOR




( Microsiw )

NAND
NAND 5-1 Vdd
GND 0V H=3V Input 0OV 3V
Vdd H
H
Input
ND
GND —
5-1 NAND-Inverter
MOSFET 5-2 NAND
vdd
=5 TaT FAc s=h 3 R
— <>
[ Y [ R o
T B0 on a0
S— . hld
—I Q(ZZZIL_JT T
L
= ol (=3B E I g =1 ==
5-2 NAND-Inverter MOSFET

34

5-3




|_|
L= H H=+1
Irnput # |—<}
4' H=—L_ |_I
H L =H
H I_ —
L=—H
L R
rland [EEE Irwe rte rf[OES
5-3 MOSFET
NAND 5-4
o TR IR RE I +O—0DEE
H F Ao BIRITAVEGAT &
% —4 [ +a=o O—+QMEE

H
L+=H {) @ ﬁ?
e
=0
4' D= —1 -
randB3ES GhD

Irnve rte r[EEE

wWioddh s BB ETAV i eSS

—Cl— D e =

WoddnE EETET O & (HETE
NaTsickoT . prEsh
EEdMiaT oENTES

ERT+OE T ECsIC R
o . i FREENE
W&

5-4 NAND-Inverter
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l,w,d

MOS €
MOSFET
-6 -6
C=e W 3453x10(F /). 24310 _(M) 1010 (m)
d 90x107%°(m) 5 1
=1.53x10™F =15.3fF
\Y; MOSFET Q
Q=CV=15.3x107" x 3=45.9fC G )
NAND, Inverter
5-4 5 Qs
Qs=5Q=229.5fC 5
in,1u,1m
5-1,2
lin MOSFET
lout MOSFET
Q(in-out)= j (lin— lout)dt 10
Qin LH Qout LH \Y \Y (in-out)
Qin HL Qout HL \Y \Y/ (in-out)
Qin LH Qout LH
Qin HL Qout HL
=ABS[Q( ) Q( )]
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Qin(LH) 47.2nC 46.2pC -7.27fC 35.831pC 55.413fC
Qout(LH) 47.2nC 46.4pC 175fC 184.038pC | 55.579fC
Q(LH) -296fC -195fC -179fC -148.207pC | -166pC
72.3%
Qin(HL) 47.0nC 46.4pC 179fC 194.27pC 52.572fC
Qout(HL) 47.0nC 46.2pC -5.38fC 2.404pC 52.336fC
Q(HL) 263fC 194fC 184fC 191.87pC 236pC
5-2 (H-L)
L-H(OV 3V) H- L3V ov)
lu

Q( Qin
Q(HL) Q(LH) Qin Qin
Qin 1in

Q(in-out)= j (lin— lout)dt
t I(t)
t Q

AQ

2

I OEITONN
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Q:jldtzz Q

Q(in-out)

Q(in—out) = Qin— Qout

:z Iin(t+At2)— lin(t) < Af— Iout(t+A2t)— lin(t) « Al

PMOS NMOS
4 MQOS 5-3
PMOQOS NMOS
(Clsec) 334p 3.375p
5-3 MOS
PMOS,NMOS
Is(stand) (5-7) M MOS
M  pmos +NMos
IS = 7 X 2
M  334x1072 +3.375x102 &7)
M +o —84.34x10 2 x M
2 2
MQOS
(5-8)
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5-ba 5-
0
5-5
A
1.00E-04
8.00E-05 ]
6.00E-05
4.00E-05 A
2.00E-05 l k_
0.00E+00
0.0E+00 10E-08 20E-08 30E-08 40E-08 sec
5-5 5-1 (26n
Ic(comsumption) (5-9~12) Iddn
tn
ldd ., +1dd
Qn = %X (tn+1 _tn)
T — tn+l + tn
n

2

Qs, =Q, +Qs,4

(3-19)

Yo
B > Tn
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® <ex-ew+ > N(i)-w(i)

N(i)=0(i=1~N) (5-13)
O <ex-ew
(5-13)
(5-15)
< Z N(@)-w(i)
(5-14) (5-15)
c(chain)
ex
3

Type-a

Type-B s

Type-y ¢

3
ex(1)~ex(3) 5-6

40

(5-14)

s(self)



3
2 I
ex(1)
ex(V) — —ex(2)
1 | ex(3)
0
0.0E+00 1.8E-07
t(s)
5-6 ex(i)
w,ew
o i =] = 0011
w(i,j)=|.
I # ] = 0101
ew=1100
C] 5-4
Type-a Type-B Type y
1111 1100 1000
C]
(5-7) Is
Is=1.366x10""
la(action) (5-8)
la=Ilc-1Is
5-7a,b,c 5-5
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5-7a,b,c 5-6

N(i)(i=1~3) 5-8 5-6
Qs 5-5 5-6 2
Ic la
3
? —N()
N(V) —N(2)
L N@3)
0
0.00E+00 1.76E-07
t(s)
5-7a type-a N(i)
’ i |
| N(L)
N(V) | — —N@)
2
. i | | N(2)
I
O S
0.00E+00 1.76E-07
t(s)
5-7b type-B N(i)
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type-a

5-7

5-8

51 |
2 1
N(1)
N(V) — — N(3)
1 N(2)
0 il-lll,
0.00E+00 1.76E-07
t(s)
5-7c type-y
4.00E-10
i o
3.00E-10
I Qs(a )
Qs(C) 2.00E-10 Qs(B )
/ Qs(y )
1.00E-10
0.00E+00 —4-
0.00E+00 1.98E-07
t(s)
5-8 Qs [ idt
Type-a Type-B Type y
Ic(A) 0.00018 0.00203 0.00223
la(A) 0.00018 0.00203 0.00223
5-5 a
B vy
12 5-5 type-a
type-B vy Type-y
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type-



72ns
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6-1a,b,c
B [7]
MOS Is MOS
MOS
6-2 ex(1) lout
N(i)(i=1~3) E(i)(i=1~3) 5-7
6-3 5-6 ex(i)(i=1~3) Vdd
Ic
6-1a 3
ﬁ—\:'L—,—I
| out6a | | out2b |
L L
e HET S
I
QGND (]
— — | Vinner1(0.8V) | | Vinner2(0.8V) |
6-1b E
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NVinhin

5

Vb(6.5\) |

| NVinhout H

=
L anp

10k

GND

va(z\Vv)

G‘NDM—H

6-1c

3.00E-04

250E-04

2.00E-04

/ — (1)

lout(A) 150E-04

—NQ)
/ N(@3)

1.00E-04

0.00E+00
0

5.00E-05 "4

6-2

ex N(i) (

3)

0.00006

0.00005

0.00004

Ic(A) 0.00003

0.00002

0.00001

0
0.00E+00

1.78E-07
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SPICE 10

SPICE
6-4
( )
11,12 S w=0110 22n
Ida(digital action)
lda=7.4x10"°(A)
12 S
S /
6-4
Ids MOS (5-7)
(6-1) N

a7



combination rate)

Ids = pmos

+ NMOs

X

mos +N

mos +F N Nor mos

2

=84.34x1072 x 18N(N +1) + N(112x (N +1) + 2(N +1) + 2) + 10N)

6-3

laa(analog action)

laa =1.836x10"° x

N

lar = 250x107° x N

(6-2)

las 6-3 (6-3)

w(i.j).ew(i),© (i)

. i=j=3
wi, ) = { ’.
i#]=6
ew(i) =12
0(i) =12
ex(i) N(i)(i=1~N) 0
ear(ex action rate) icr(inner
tc(time coefficient) N
ear (6-4)
= Nxear
0
icr (6-5)
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=N?Zxicr

tc

(6-6)

= 22x107° x10"(s)

10 100
6-5 icr=0

ear 0,1
6-6
6-7 ear=0.5,icr=0.5

J‘ ladt

J‘ ladt

0

6-5,6,7

ear

ear=0,1

ear=0.9,0.1

icr
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tc

icr



la(A)

35

2.5

15

05

x 10

degital

-
-
-
-
-
-
-
.-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
-
.
-
-
-
-
-
-
-
-
-
-
-
-
-
.
-
-
-
-
-

-
-
-
-
-
-
-
-
-
-
-
-

ear

ear (la:

la(A)

0.02

0.018

0.016

0.014

0.012

0.01

0.008

0.006

0.004

0.002

-
-
-
-
-
-
-
-
-
-
-
-
-
-
————
-
-
P
-

===

ear=0.9

icr

6-6

icr

(ear:
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1078

analog
107° ¢ E
[ ladt(C)
107°F degitar E
10 -11 - E
1 15 25 3 35 4 45 5
tc
6-7 tc (la: )
)
b ]
N Ic 6-8a,b ear
6-8a,b ( )
2N icr=1, tc=1
c
5-8 vy Qs
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degital

Ic(A)

6-8a ex N Ic
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Ic(A)

1 2 3 4 5 6 7
6-8 ex N Ic
(ear: )
[ c ]
6-7
ladt ncr=0.3
10 tc
6-9 ear
6-9 ear tc
6-5 ear ( )
ear
tc 6-7

tcowo=lda 0
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(5-8) Idc,lac

ic >
Idc = Ids
lac = las+ laa

Ids (6-7)
ear Ic

ear=0.1 N=150 ear=0.3 N=400

Ic

(6-7)

tc

6-10
6-10

Idc

ear=0.1

tc

50 100 150 200 250

300

350

400

450

500

(ear:
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tc




x 107

4 T
35F |
3 L |
7’
< 257 lac(ear=0.5)
5% lac(ear=0.3)
2r ,/ 8
Y
,/
15 [ , -
»7 ldc(tc=w )
1 PR -
05 P -
lac(ear=0.1)
———\— I I I I I I I
50 100 150 200 250 300 350 400 450 500 N
6-10 Ic Is
(ear: )
1lms(tc 6.67) 6-10
icr ear N Ic
lac Idc
20 icr
1 0
(MOS )
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x 10

3
25r
2,
— lac(ear=0.3)
<
LS
15+ b
Idc(ear=0.1)
Idc(ear=0.3)
l,
05 lac(ear=0.1)
0 | | | |
0 100 200 300 400 500
N
6-10a icr=0.1 N Ic
(ear: )
x 107
25 1
2, -
—_ lac(ear=0.3
2 ( )
2 1s5) -
Idc(ear=0.1)
Idc(ear=0.3)
1, _|
05F lac(ear=0.1) q
50 100 150 200 250 300 350 400 450 500 N
6-10b icr=0.3 N Ic
(ear: )
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3r d
25F R
2, -
% lac(ear=0.3)
= 15¢ 8
Idc(ear=0.1)
Idc(ear=0.3)
1,
05r lac(ear=0.1)
50 1(50 l':")O 2(50 2':")0 360 350 460 450 500
N
6-10c icr=0.6 N Ic
(ear: )
x 10°°
3,
25¢
— 2+
5_’:0/ lac(ear=0.3)
15F R
Idc(ear=0.1)
Idc(ear=0.3)
1,
05r lac(ear=0.1)
50 100 150 200 250 300 350 400 450 500
N
6-10d icr=1 N Ic
(ear:
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EXOR Inverter
SRAM
ear=0.3 N=450
Im
N=400

CPU

S( ) MOS
FPGA LSI
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ncount=
icr=
ear=
roop=
tc=

excount=

for(kk=1:ncount)
k=2"(kk-1)
awe=rand(k);
aweit=(6-3*awe*inv(awe)).*(rand(k)>(1-icr));
exweit=12*(rand(k,1)>0);
theta=12*(rand(k,1)>0);

dousad(kk,1:2)=0;
dousaa(kk,1:2)=0;

for(rcount=1:roop)
ex=rand(k,1)*0;
a=rand(k,1)*0;

0=0;
qs=0;
ffpg=0;
pga=0;
gex=0;
gsex=0;
pgas=0;

for(x=1:excount)
p=0;

for(t=1:kk)
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out=exweit.*ex+aweit'*a>=theta;

if sum(ex)==0
out(1:k,1)=0;
end

if out==a

break;

else

p=p+(sum(aweit'>0).*(2+k-(1:k)))*abs(a-out);

a=out;

end

end

if sum(out)==k
q=g+p;
gs=gs+q;
else
q=g+p;
gs=gs+q;
end

exf=rand(k,1)>(1-ear);
gex=gex+sum(abs(exf-ex));
gsex=gsex+qgex;
pga=pga+sum(ex);

pgas=pgas+pga;

ex=exf;
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if ji==
break;
end

end

pg=(2*qgs+qg*cou)/((1+2*cou)*cou);

pgex=(2*qgsex+gex*cou)/((1+cou*2)*cou);

pgaex=(2*pgas+pga*cou)/((1+cou*2)*cou);

dou=pg+pgex;
doua=pqaex;

end

dousad(kk)=dousad(kk)+dou;

dousaa(kk)=dousaa(kk)+doua;
reakd(kk)=84e-12*(14*k*(k+1)+k*(112*(k+1)+2*(k+1)+2)+10*K);
reaka(kk)=250e-9*k;

end

y=1:ncount;

etime=22e-9*107\(tc-1)
plot(2.”~(y-1),dousad(y)/roop*7.4e-5/etime+reakd(y),2.”(y-1),dousaa(y)/roop*1.836e-
5+reaka(y));

legend(‘degital’,;’analog’)
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